



$$1 + \cos \theta + \cos 2\theta + \dots + \cos(n-1)\theta + i(\sin \theta + \sin 2\theta + \dots + \sin(n-1)\theta) = \frac{1 - \cos n\theta - i \sin n\theta}{1 - \cos \theta - i \sin \theta} \times \frac{1 - \cos \theta + i \sin \theta}{1 - \cos \theta + i \sin \theta}$$

$$\begin{aligned} & \frac{1 - \cos n\theta - i \sin n\theta}{1 - \cos \theta - i \sin \theta} \times \frac{1 - \cos \theta + i \sin \theta}{1 - \cos \theta + i \sin \theta} \\ &= \frac{(1 - \cos n\theta)(1 - \cos \theta) + i \sin \theta(1 - \cos n\theta) - i \sin n\theta(1 - \cos \theta) + \sin \theta \sin n\theta}{(1 - \cos \theta)^2 + \sin^2 \theta} \\ &= \frac{(1 - \cos n\theta)(1 - \cos \theta) + \sin \theta \sin n\theta + i \sin \theta(1 - \cos n\theta) - i \sin n\theta(1 - \cos \theta)}{2 - 2 \cos \theta} \\ &= \frac{1}{2}(1 - \cos n\theta) + \frac{\sin \theta \sin n\theta}{2 - 2 \cos \theta} + i \left\{ \frac{\sin \theta(1 - \cos n\theta)}{2 - 2 \cos \theta} - \frac{1}{2} \sin n\theta \right\} \end{aligned}$$

Hence by equating real and imaginary parts:

$$\begin{aligned} 1 + \cos \theta + \cos 2\theta + \dots + \cos(n-1)\theta &= \frac{1}{2}(1 - \cos n\theta) + \frac{\sin \theta \sin n\theta}{1 - \cos \theta} \\ \sin \theta + \sin 2\theta + \dots + \sin(n-1)\theta &= \frac{\sin \theta(1 - \cos n\theta)}{1 - \cos \theta} - \frac{1}{2} \sin n\theta \end{aligned}$$

Using summation notation:

$$\begin{aligned} \sum_{k=1}^n \cos(k-1)\theta &= \frac{1}{2}(1 - \cos n\theta) + \frac{\sin \theta \sin n\theta}{1 - \cos \theta} \\ \sum_{k=1}^n \sin(k-1)\theta &= \frac{\sin \theta(1 - \cos n\theta)}{1 - \cos \theta} - \frac{1}{2} \sin n\theta \end{aligned}$$

Similar ideas can be used for **Hyperbolic functions**

$$\begin{aligned} \cosh nx &= \frac{1}{2}(e^{nx} + e^{-nx}) \\ \sinh nx &= \frac{1}{2}(e^{nx} - e^{-nx}) \\ z &= e^x \\ \therefore 2 \cosh nx &= z^n + \frac{1}{z^n} \\ \therefore 2 \sinh nx &= z^n - \frac{1}{z^n} \end{aligned}$$

**Example #3**

$$\begin{aligned} (2 \cosh x)^4 &= \left(z + \frac{1}{z}\right)^4 \\ &= z^4 + 4z^3 \frac{1}{z} + 6z^2 \frac{1}{z^2} + 4z \frac{1}{z^3} + \frac{1}{z^4} \\ &= z^4 + 4z^2 + 6 + \frac{4}{z^2} + \frac{1}{z^4} \\ &= z^4 + \frac{1}{z^4} + 4\left(z^2 + \frac{1}{z^2}\right) + 6 \\ &= 2 \cosh 4x + 4(2 \cosh 2x) + 6 \\ \therefore 16 \cosh^4 x &= 2 \cosh 4x + 8 \cosh 2x + 6 \end{aligned}$$

$$\therefore \cosh^4 x = \frac{1}{8}(\cosh 4x + 4 \cosh 2x + 3)$$

$$\int \cosh^4 x dx = \int \frac{1}{8}(\cosh 4x + 4 \cosh 2x + 3) dx$$

$$\int \cosh^4 x dx = \frac{1}{32} \sinh 4x + \frac{1}{4} \sinh 2x + \frac{3}{8}x + c$$

**Example #4**

$$\begin{aligned} (2 \sinh x)^3 &= \left(z - \frac{1}{z}\right)^3 \\ &= z^3 + 3z^2 \left(-\frac{1}{z}\right) + 3z \left(-\frac{1}{z}\right)^2 + \left(-\frac{1}{z}\right)^3 \\ &= z^3 - 3z + \frac{3}{z} - \frac{1}{z^3} \\ 8 \sinh^3 x &= z^3 - \frac{1}{z^3} - 3\left(z - \frac{1}{z}\right) \\ 8 \sinh^3 x &= 2 \sinh 3x - 3(2 \sinh x) \\ \therefore \sinh^3 x &= \frac{1}{4} \sinh 3x - \frac{3}{4} \sinh x \end{aligned}$$

$$\therefore \int \sinh^3 x dx = \int \left(\frac{1}{4} \sinh 3x - \frac{3}{4} \sinh x\right) dx$$

$$\therefore \int \sinh^3 x dx = \frac{1}{12} \cosh 3x - \frac{3}{4} \cosh x + c$$